Solving word problems: rounding remainders

Solve division problems including answers that
involve rounding remainders up or down

Find the answer to each of the word problems. stz
If there is a remainder, think carefully whether

it needs to be rounded up or down to fit

the question.

a The sandwich stall made 342 b In one day, 387 people went on
sandwiches. They were packed the ghost train. Each train holds
into boxes each containing 6 people. How many times did
4 sandwiches. How many full the train need to run?
boxes could be made?

Candy floss costs £4 per bag. The Smythe family has £172 to
195 bags were sold in one day. spend on rides. All rides cost £5.
How much money was taken? How many rides can they go on?

The rollercoaster seats 4 people. Doughnuts are sold in packs of
141 people are waiting in the 6. There are 273 doughnuts to
queue. How many times does be packaged. How many packs
the rollercoaster run before can be made?

everyone in the queue has had
a ride?






